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R1
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N3

S

X
OAc

O
AcO

RO

N
NN

R2

a or b

R2

R1or

R(α) = Ac; X = OAc (Glc)
R(β) = Ac, X = OAc (Gal) 
R(α) = Ac; X = NHAc (GlcNAc) 
R(β) = (AcO)Glcpβ, X = OAc (Cellobiose) 
R(β) = (AcO)Glcpβ, X = OAc (Lac)
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H (for 55)
CO2Me
CH2Cl
H

H (for 55)
CO2Me
CH2Cl
CO2Me

Glc, Cellobiose, Lac
Glc, GluNAc
GlcNAc, Cellobiose, Lac
Gal

R1 R2 Sugar

O

O
O

O
N3

O

N
N N+ b

O

O
O

O

O

R

SO2Ph

R = C4F9, C6F13
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(.�$�7. 

3�&/�5�H�7�5A&#_7������������$9M.G��O$��(�U�==��9G9�V�
���U�==��9G9:��

�

�

�

�

�

�

�



*��	
�����
�8
	
���
���������N����������	� ��
�	
���
����	
�K����C��8
���	�6L��
�

:M

/����
 78>@��@�@F5@F5@��������B�G����G@58?@��@�@����
����@α α α α @�@

�
�
������
�$���� 47=, 

O
O

O

OMe
O

O
Cl

O

Cl

O

 
0���@�����4��5&��3	-8
1����9U97��

/
�����
�	��<<X�����	����������������

[α]D _O9"�5��9�������@����7�

'/�5@���7U��G�::��G�<<����9<��9G<���9�MO��9�=M ��-1 
9.�/�( 5$�$�G��G����.�7U��δ� �=�M��5���9�.��Q�Y�G���.���.-97��=�=9�5����9�.��Q�Y�
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.��Q�Y��G�.�7 
9G$�/�( 5$�$�G� ���<��.�7U�δ� �M:����:9�G���M�������M�����9���M�M���=�M���=�������9��

�9�G���9�������M�����:�����<��OM�<��O��G��<:����<<����=��:. 

3�&/�5�H�7�5A&#_7������������$�9.G��:$��(�U�<�<�9G��V�
���U�<�<�9G����




>8>I8?8?I@-���
@�@F5@F5@��������B�G@����G@585I8787I@����
@�@����
����@

αααα8ααααI@���)
���
 4>?,  

O

O O O

O

O

Cl

O

Cl

O

OOO

O

O

Cl

O

Cl

O

 
0���@�����4��5,	
��
	�����-8
1����9U97��

/
�����
�	��O<X�����	����������������



*��	
�����
�8
	
���
���������N����������	� ��
�	
���
����	
�K����C��8
���	�6L��
�

M9

[α]D _:�"�5��9�������@����7 

'/�5@���7U�G�M9���:�����99���9=<=��9G<O��9�M����-9�
9.�/�( 5$�$�G��G����.�7U�δ�<�9:�5�����.��Q�Y�G�O�.�7��=�=��5���=�.��Q�Y���9�.�7��

=��O�5��� �=�.7��=��:-G�M:�5���=�.7��G�:<-G�<��5���=��.7��G�=G�5	����.��Q�Y�M�O�.�7��

��=:�5	����.��Q�Y���G�.�7����=��5	����.��Q�Y���G�.�7 
9G$�/�( 5$�$�G�� �<��.�7U�δ� M=���� :9�9�� :��=�� �M�:�� �:�O�� ���M�� �=���� �=���� ������
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9.�/�(�5$�$�G��G����.�7U�δ������5�����.����1�.-	������7��<��<-<����5���O�.����1�.-

��G�=7��=�:9�5�����.����1�.-97��=�O9�5)�����:�.����1��$.�$.�-	����������1�$.�-	������7��

=����5������.��Q�Y�9����6�<�9�.�����1�.-O7��=�9:-=�9��5�����.����$$��-��+���7��=��=�

5)�������.��Q�Y�9��9�.�����1�.-O[7��G�M=-G�:��5�����.����$$��-$-97��G��<�5	��=�.��Q�Y�

<�O�.�����1�$�$.�$$=��7��G�O<-G�<=�5���9=�.����$�$$=$$=�$$=����1�.-<7��G�<9�5���

=�.����1��$$�$7��G�=<�5���=�.����1��$$�$7����9=����9������<��9�MM�5����=�.���&�7  
9G$�/�(�5$�$�G���<��.�7U�δ�9���<��9OM�M��9OM�:��9OM���5�:�1�$.G(�7��9=<�O�5���1�

(Y$.7�� 9�G��� 5�� 1� $Y(.7�� M��<� 5�� 1� $-97�� �9���� �9���� ���=�� OM���� OM�G� 5� �� 1�

(.��(.�(.���(.�$(.�7��OM�M��OM�M��OM����O<���5��1�$-��G�=�<7��OO�G�5��1�(.��-

��+���7�� O=�:� 5�� 1�(.�$Y7�� O���� 5$-O7�� =M�O� 5�� 1�(.�(7�� =<�=� 5$E��	7�� =G��� 5�� 1�

$�(.�7�����M�����:�����:�������5(.G$�7. 
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Q�Y�9��9�.���$.�(7��=�:��5���9�.��Q�Y�G���.���.-9����7��=�:��5)������.��.-9����7��

=��G�5���9�.��Q�Y�9��<�.���$.�� 	������7��=�O��5���9�.��Q�Y�9��<�.����$.�� 	������7��

=�O<-=�<<� 5��� =� .�� $.��-���7�� =���-G�<<� 5��� �:� .�� .-��G�=�<�O�O[� ����� �� 1� .-<�

����� ��1� $.��-����� ��1�$�$.�$.��$.�$.�7�� G�G�� 5��� G� .�� ��
7�� ��9=�� ���M��

���<��9�MM�5=�����=�.��:�1�&��7 
9G$� (�/5$�$�G�� �<� �.�7U� δ� � 9���=�� 9OM���� 9OM���� 9OM�=�� 9=<�<�� 9=<���� 9�G�M��

9�G����M:�=��M��<��M��=���M�=���O�������G���9�9���9�������:��������OM����O:�M��O:�:��O:����

OO����OO�9��O<�O��O=�O��O=�=��O��9��<<�9��=M�O��=M�<��=G�9��=G�������������O�����<�
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9.�/�( 5$�$��G��G����.�7U��δ���MM����M��5�������.��.-<�	������7��<�G�-<�9M�5���O�.��

.-��G�=7��=�M:�5����	
���&#����.��Q�Y�99�=�.���∆ µ�Y�9G���.����$.�-	������7��=�:=�5���

9�.��Q�Y�9����.����$.�-	������7��=�:G�5���9�.��Q�Y�G�:�.���.-9����7��=�:�-=��M�5�������

.��.-9����7��=�:9�5���9�.��Q�Y�99�M�.���Y$.�-	������7��=�O�-=�<��5���=�.��$.�(7��

=���-G�::�5���:�.��.-O�O[������$.��-���7��G�:=�5	��9�.��Q�Y�M�=�.���.-G����7��G�:�-

G�<��5����9�.��.-<�O�O[������.-<������$�$.�$.���$.�$.��7��G�<G�5����9�.��Q�Y�

M�O�6�G�<�.���.-�����7��G�=��5	��9�.��Q�Y�M���.���.-=����7��G�G:�5���G�.����
7����9���

���:�����G��9�M��5=�*���=�.��&�7 
9G$�/�( 5$�$�G�� �<��.�7U� δ� � 9���<�� 9OM�:�� 9OM���� 9OM�O� 5$��7�� 9=<�=�� 9==�M��

9�=�=��9�=�G�5	������7��M��O��M��<�5$-97��:9�=���M�<���:�������9���9�����9�9�����:��������

���<��������OM�<��OM�9��OM�9��O:�M��OO�G��OO����O<����O=����O=����<<����=M�<��=G����=��:��

���������O�����O�5%�$�7. 
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9.�/�( 5$�$�G��G����.�75�
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��9=����99����9������<�����=��9�M:�5O����=:�.7 
9G$� /�( 5$�$�G�� �<� �.�7U� δ� 9���O�� 9OM�:�� 9OM���� 9OM�O�� 9=<�G�� 9==�M�� 9�=�<��

9�=�G��M��O��MG�=��:��O���:�:�����:���9�M���9�9���9�������������O�����G��OM�=��OM����O:�M��

O:�:��O:����O:����OO�G��OO����OO����O<�O��OG�:��O�����=M�=��=M�G��=G����=��:�����������O��

���<. 

3�&/� 5�H�7� 5�&B�'-��A7� ������ ����� $9�=.9<��<<(9�$�=(�U� �O�M�:��V� 
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[α]D �_G<"�5��9�������@����7 

'/�5@���7U��9�<���9G����9�����99G=��9�:M��9�=M ��-1 
9.�/�( 5$�$�G��G����.�7U�δ������5�����.�7��<�G<-<��<�5���=�.7��<��G�5)�������.7��

=�M��5�����.7��=�:=�5�����.��Q�Y�9����.�7��=�OM�5�����.��Q�Y�9����.�7��=�<<�5	��=�.��Q�Y�

<�9�.�7��=�G9�5������.��Q��Y�9��G�6�<�9�.�7��=�9=-=����5���=�.7��G�M��5	��=�.��Q�Y�<�9�

.�7��G��<�5	��=�.��Q�Y�<���.�7��G�O<-G�<G�5������.7��G�=G�5���:�.7�����9<����9������=��

9�M:�5=�����=�.7 



$���	����'��
�

M:

9G$�/�( 5$�$�G���<��.�7U�δ�9������9OM�M��9OM����9=G�G��9�=����MO�:���9�G���9�9��

�9�������<��������OM�M��OM�<��OM�=��OM�9��O:����OO�9��O��=��O��M��=<�<��=G�������M�����:��

����. 

3�&/� 5�H�7� 5�&B�'-��A7� ������ 0���� $<<.:=��:(O$��(�U� 9GOM�=O�V� 
���U�
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[α]D �_O�"�5��9�������@����7  

'/�5@���7U��9�=M��9GO���9��O��99����9�=����-9�
9.�/�( 5$�$�G��G����.�7U�δ����G�5�����.�7��<�=��5	����.��Q�Y�M�M�.�7��<��9�5�����.��

Q�Y�G���.�7��<��:�5	����.��Q�Y�M�:�.�7��=�:M�5������.��Q�Y�9����6�G���.�7��=�:=�5�����.��Q�

Y�9��G�.�7��=�O��5�����.��Q�Y�9��G�.�7��=�<<�5	��=�.��Q�Y�<�9�.�7��=����5������.��Q��Y�

9��G�6�=���.�7��=�9=-=��<�5���=�.7��G�M��5	��=�.��Q�Y�<�9�.�7��G��<�5	��=�.��Q�Y�<�:�.�7��

G�O<-G�<G�5���11�.7��G�=��5���:�.7���G�G��5	��=�.��Q�Y�<���.�7����9������G�������������5=�

����=�.7 
9G$�/�(�5$�$�G���<��.�7U�δ�9���9��9=G�<��9�=�9��M<�����9�G���9�9���9�������������<��

���<�����9��������OM�O��OM�<��O:�<��O��<��O9�:��O9�=��<��<��=<�O��=G�������:������������. 

3�&/� 5�H�7� 5�&B�'-��A7� ������ 0���� $<<.:=��:(O$��(�U� 9GOM�=O�V� 
���U�

9GOM�<<���
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'/�5@���7U��:O����9�M��9O9<�9<9:�9G�G��9�=M��9�M<��9�G���:G����-9�

9.�/�(�5$�$�G��G����.�7U�δ���=��5�����.��Q�Y�:���.�7��O�:M�5�����.��Q�Y�:��7��<�G:�

5���9�.7��=��M�5�����.��Q�Y�99�:�.�7��G�::�5�����.��Q�Y�99���.�7��G�:��5���=�.7��G���-

G�G<�5 ���������9O�.7��G�O��5���G�.7�
9G$�/�(�5$�$�G�� �<��.�7U�δ� 9O9�9��9G9����9���=��99G����9�9�����9�=���9�G���9�9��

���O�����O�����������9��������OM�:��<<�=��<��M��GM���. 

3�&/�5�H�7�5A&#_7�������0����$�9.G���(O(�U�<�G���G�V�
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[α]D _���"�5��9�������@����7  

'/�5@���7U��99���9�=:��9G����9��O��99G:��9�M9��9�=:��M:����-9��
9.�/�(�5$�$�G��G����.�7U�����OM�5�����.����1�.-	������7��<��<-<����5���O�.����1�

.-��G�=7�� =�:9� 5��� ��.�� ��1�.-97�� =�O�� 5)�� ��� :�.�� ��1��$.�$$=-	�������� ��1�$.�-

	������7�� =���� 5���� ��.��Q�Y�9���� 6� <�9�.��� ��1�.-O7�� =�9:-=�99� 5��� ��.�� ��$$��-

��+���7��=��=�5������.��Q�Y�9��=�6���G�.�����1�.-O?7��G�M9�5�����.����$$��-��+���7��

G�O�� 5	�� =� .�� Q� Y� <�� .��� �� 1� (G$.�$$=�7�� G�OG-G�<=� 5��� 9�� .�� ��

(G$.�$.��$$=$$=����1�.-<7��G�<9�5���=�.����1��$$�$7��G�=O�5���=�.����1��$$�$7��

G�G��5�	��=�.����(G$$�7�����9=����9������=��9�MM�5=�����=�.���&�7  
9G$�/�(� 5$�$�G�� �<��.�7U� �� 9���<�� 9OM�M�� 9OM�:�� 9OM�O� 5� :�1�(�7�� 9=<��� 5� ��1�

$Y$.7�� 9�G�O� 5�� 1� $Y(.7�� M��O� 5�� 1� $-97�� �9���� ���=�� ������ OM�:�� OM�<� 5� �� 1�

(.��(.�(.���(.�(.�7��OM����OM����O:�M��O<��� 5��1�$-��G�=�<7��OO�G� 5��1�(.��-

��+���7�� O=�:� 5��1�(.�$Y7�� O���� 5$-O7�� <��:� 5� ��1�(.�(G7�� =M�<� 5��1�(.�(7�� =<�<�

5(E��	7������:�������������������5%�$�7. 

3�&/�5�H�7�5�&B�'-��A7�������0����$<9.�O��O(9�(�U�9�M<�=:MV�
���U�9�M<�=<���
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[α]D _=9�<"�5��9�������@����7�

'/�5F#�7U����99��9�=M��9��:��99GM��9�M���9�=: ��-1 
9.�/�( 5$�$�G��G����.�7U��δ����9�5���9�.��.-<�	������7����O:�5���9�.��.-<�	������7��

<��:-<�9M�5���O�.����1�.-��G�=����7���=�M9�5���9�.��Q�Y�9����.����$$�-	������7��=�:G�

5���9�.��Q�Y�9����.���Y$.�-	������7��=�:��5���9�.��Q�Y�G�O�.���.-9����7��=��M�5)������.��

.-9����7��=��G�5���9�.��Q�Y�9����.����$$��	������7��=�O��5���9�.��Q�Y�9����.����$.��

	������7��=�O=-=�<��5���=�.��($$�7��=��<-G�<M�5����=�.��.-��G�=�<�O�O?��������1�.-<�

�������1�$.��-�������1��$.�$.��$.�$.�7��G�=9-G�G<�5����=�.��$$�(7��G�G��5���

G�.���%�7����9=�����M�����<��9�MM�5=�����=�.��:�1�&��7 
9G$� /�( 5$�$�G�� �<� �.�7U� δ� � 9���<�� 9OM�M�� 9OM�:�� 9OM�O�� 9<M�O�� 9=<�O�� 9=<����

9�G�M�� 9�G�M�� M:�O�� M��O�� M��<�� �M�O�� �O���� �O���� ���<�� �9���� ���M�� ���G�� OM���� OM����

OM�9��OM����OM����O:�M��O:�:��OO�G��OO����O<�:��O<�:��O=�:��O=�O��O�����<<�G��<��M��<��:��

=M����=M�O�����:�����������O��

3�&/�5�H�7�5�&B�'-��A7�������0����$<G.�:��:(9�(�U�9G<G�=M<V�
���U�9G<G�<9���
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[α]D _<�"�5��9�������@����7 

'/�5F#�7U��99���9�=M��9�����99G:��9�M���9�=:���-9�
9.�(�/ 5$�$�G��G����.�7U��δ���MO����:M�5�������.7��<�G�-<�9<�5���O�.7��<���-=��:�

5�����.7��=���-=�<��5���=�.7��=��G�5������.��Q�Y�9��=�6�<���.�7��=���-G�G��5 ���������

�:�.7��G�:O�5	��9�.��Q�Y�=�.�7��G�<<�5����9�.��Q�Y�M�O�6�G�<�.�7��G�GM�5���G�.7����9���

��9������=��9�M:�5=�����=�.7 
9G$� /�( 5$�$�G�� �<� �.�7U� δ� � 9���<�� 9OM�:�� 9OM���� 9OM�O�� 9=<�=�� 9==�M�� 9�=�=��

9�=�9��M��O��:9�=���M�<���:�������������:������������<��������OM�M��OM�:��OM�<��OM�9��OM����

O:�:��O:�:��OO�G��O<����O=�G��O9�9��<=�M��<�����=M�<�����������O�����O�����<. 

3�&/�5�H�7�5�&B�'-��A7�������0����$<G.�:��:(9�(�U�9G<G�=M<V�
���U�9G<G�=<=��
























*��	
�����
�8
	
���
���������N����������	� ��
�	
���
����	
�K����C��8
���	�6L��
�

9�G

���������
4??,


O

OAc
OAc

AcO

O

AcO

N
N

N

O
O

O
O

O

O

O

O

OAc
OAc

AcO

O

AcO

N
N

N

O

AcO
AcO

OAc

O

OAc

N
N

N

O
O

O
O

O

O

O

O

AcO
AcO

OAc

O

OAc

N
N

N

O

N3

N3

N3

N3

�

0���@�����4��5&��3	-�
�.�9�U97��

/
�����
�	��:�X��
�������4����� 

'/�5F#�7U��99G��9�<9��9�����99GM��9�M���9�=:���-9�

9.�(�/ 5$�$�G��G����.�7U��δ�:��M�6���:M�5����=.��.-<�	������7��<�G�-<�9:�5���9=.��

.-9���
8������6�.-��G�=����7��<����6�=�M<�5���=.��QY99�G�.���$.�-	������7��=�:<�6�

=�:�� 5�)��� =.�� .-9���7�� =�:G� 6� =�O:� 5���� =.�� $$�-	������7�� =���-=�<�� 5��� :.��

$$�(	������7�� =��<� 5��� =.��.-O����7�� =�9<� 5���=.��$$�����7�� =��:� 5)���=.��.-

O?���7�� =��:-G�M�� 5��� O.��$.�����6�.-<���
8�����7�� G�:<� 5	�� �.��QYM�G�.���.-G�

��
8�����7�� G�:<-G�O�� 5��� G�.��$$��
�����������.-O���
8������ 6�.-<����7�� G�<9�

5���� �.�� QYM�O� .�� 6� G�<� .��� .-�� ��
8�����7�� G�=�-G�G�� 5��� 9�.�� $$�(G� 6� .-=�

��
8�����7����9G-9�M��5<���=:.��$$G$�7�
9G$�/�( 5$�$�G���<��.�7U�δ� �9���O��9OM�M��9OM�:��9OM��� 5$.G(�7��9=<�O��9=<���

5$-=�	������7��9�=�<��9�=���5$-<�	������7��M��:�5$-9����7��MG�O�5$-9���
8�����7��:9���

5$-G� ��
8�����7�� �M��� 5$-�� ��
8�����7�� �:�9� 5$-=� ��
8�����7�� ���9�� �9���� ���M�

5(.��
���������(G7�� ���:� 5$-<���
8�����7�� ���<�� OM�M�� OM�:� 5(.�
���������7�� OM�<�

5$-O� ��
8�����7�� OM���� OM���� O:�M� 5$-��G�<� ���7�� OO� �<�� OO�=� 5$.����7�� OO�G�
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5(.�	������7�� O<�M� 5$-=� ���7�� O=�9� 5(.�	������7�� O��G� 5$-O� ���7�� <��:�� <����

5(.�5(7	������7��=M�<��=M�=�5(.�(G7�����M�����:�����:�������5(.G$��7��

3�&/� 5�H�7� 5�&B�'-��A7� ������ 0���� $9�=.9<��<<(�=(�U� �OG��M�GV� 
���U�

�OG���M���
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[α]D _�O"�5��9�������@����7 

'/�5@���7U��9�M��9�<���9G����9��:��99G=��9�:O��9�=:���-9�
9.�/�( 5$�$�G��G����.�7U�δ������5�����.7��<�G�-<��=�5���=�.7��<��=�5)�������.7��

=�M:�5�����.��Q�Y�9���.�7��=�:=�5�����.��Q�Y�9����.�7��=�OM�5�����.��Q�Y�9����.�7��=�<<�

5	��=�.��Q�Y�<�9�.�7��=�G9�5������.��Q��Y�9��<�6�<���.�7��=�9=-=�9��5���=�.7��G�M��5	��=�

.��Q�Y�<�9�.�7��G�O��5	��=�.��Q�Y�<���.�7��G�O=-G�<G�5������.7��G�==�5���:�.7���G�G��5	��=�

.��Q�Y�<���.�7����9<�����9������=��9�M:�5=�����=�.7 
9G$�/�( 5$�$�G���<��.�7U�δ�9������9������9OM�:��9OM����9=G����9�=����MO�:���9����

�9�������<�����=��������OM�M��OM�=��OM�=��OM�9��O:����OO����O��G��O��:��<�����<��=��=<�<��

���:�����:��������

3�&/�5�H�7�5�&B�'-��A7�������0����$<<.:=��:(9�(�U�9G:G�<=9V�
���U�9G:G�:�:��
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[α]D _O9"�5��9�������@����7 

'/�5@���7U��9�M��9�<9��9GOM��9�����99�G��9�=9���-9�
9.�/�( 5$�$�G��G����.�7U�δ������5�����.7��<�=��5	����.��Q�Y�M�:�.�7��<��9�5�����.��Q�

Y�G���.�7��<��:�5	����.��Q�Y�M���.�7��=�::�5������.��Q�Y�9��G�6�G�:�.�7��=�:G�5�����.��Q�

Y�9��<�.�7��=�OM�5�����.��Q�Y�9��G�.�7��=�<=�5	��=�.��Q�Y�<�9�.�7��=����5������.��Q��Y�

9��G�6�=�9�.�7��=�9<-=��<�5���=�.7��G�M��5	��=�.��Q�Y�<�9�.�7��G�O��5	��=�.��Q�Y�<���.�7��

G�OG-G�<��5���11�.7��G�=��5���:�.7���G�G��5	��=�.��Q�Y�<���.�7����9������G�������������5=�

����=�.7 
9G$�/�( 5$�$�G���<��.�7U�δ�9������9������9OM�O��9=G����9�=����M<�����9�G���9�9��

�9�������������O�����<�����9��������OM�O��OM�<��O��O��O9�:��O9�=��<��:��<��<��=<�O�����:��

���������������O. 

3�&/�5�H�7�5�&B�'-��A7�������0����$<<.:=��:(9�(�U�9G:G�<=9V�
���U�9G:G�:�O��
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[α]D <��<�"�5��9�������@����7  

'/�5F#�7�9�<9��9��:��9GGM��9�:M��9�=����-9�

9.�/�(�5$�$�� G��G����.�7U�δ����9����OM�5�������.��.-<� 	������7��<�=��5	����.��.-

G���7��<��M-<�9:�5���O�.��.-��G�=����7��<����5�����.��Q�Y�G�O�.���.-9����7��<��:�5	����

.��Q�Y�M�M�.���.-=����7��=�::�5������.��Q�Y�9��G�6�G�O�.���.-�����7��=�:��5�����.��Q�Y�

9��.�����-�$$�7��=�:9�5)������.��.-9����7��=�O��5�����.��Q���9��.������-�-$.�7��

=�O��5	��=�.��Q�Y�<���.���$$�(7��=�<:�5)�����=�.���$$�-	������7��=�<G�5	��=�.��Q�Y�<���
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9��

.���$$�(7��=����5������.��Q�Y�9��9�����=�9�.���.-O����7��=����5������.��Q�Y�9����6�

<���.���.-O����7��=�9�-=��G�5���:�.��.-<�O������.-O�������$$�-���7��G�M��5�����

.���$.�-���7��G�::�5	��=�.��Q�Y�=�M�.����$$�$$�(7��G�OG�5�����.��.-<����7��G�O�-

G�=:� 5���:�.���$$=$$=�7��G�=:��G�=�� 5�� ��� :�.��$5$$�7=7�� ��9=����9�����9������=��

������������9�M�5�:����=:�.��9O�&�7  
9G$�/�(�5$�$�G���<��.�7U�δ�9������9���O��9���9��9������9OM�O�5$�7��9=<�=��9=G�=�

5$-=� 	������7�� 9�=�9�� 9�G�:�5$-<� 	������7�� M��O� 5$-9� ���7�� M<�9� 5$-9� ���7�� �9�9�

5�(.�$.��7�� ����� 5$-�� ���7�� ���<� 5�$.�(.��7�� ����� 5$-G� ���7�� OM�M� 5(.��7��

OM�<� 5�(.�$.�(7�� � OM�=� 5$(.��7��OM��� 5$-�����7�� OM�9�� OM��� 5$-G�<����7�� O:�O�

5$-=����7��O��O�5$-<����7��OO�G�5�(.�$.�(7��O<�:�5$-=����7��O=�:�5�$.�-	������7��

O��G� 5$-O� ���7�� O9�:� 5$-O� ���7�� O9�=� 5(.��-���7�� <��<�� =M��� 5�� (.�(7�� =<�<�

5(5$.�7=7�����M�����:�����������O�5:�%�$�7. 

3�&/�5�H�7�5�&B�'-��A7�������0����$:<.9���=O(9�(�U���O���G9V�
���U���O����9��
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[α]D-=���"�6�;α>=GO�-M�G"�5��9�������@����7�

'/�5F#�7�9�<���9��M��9�:M��9�=:���-9�
9.�/�(�5$�$�G��G����.�7U�δ����9�������5�������.��.-<�	������7��<��:-<�9��5���:�.��

.-G������.-��G�=����7��<��M�5	����.��Q�Y�M�<�.���.-=����7��=�M��5)��	����.��Q�Y�:���.���
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9�:

.-�����7��=�M��5�����.��Q�Y�9��O�.��$$�����7��=�:��5)������.��.-9����7��=��M�5�����

.��Q�Y�9��O�.���$$�����7��=��9�5�����.��Q�Y���M�.���.-9����7��=�O=-=�<��5���9��.����

1��$.�$$=-	����������1�$$=$.��-�������1��$$�-	������-���7��=��:�5������.��Q�Y�

9��=�6�=�O�.���.-O����7��=����5������.��Q�Y�9��<�6�<�9�.���.-O����7��=�9<�5������.��Q�

Y�9��G�6�����.���.-O����7��=�9<-=�9��5�����.��$$��-���7��=��<�5������.��Q�Y�9��=�6�

��G� .��� .-O� ���7�� � G�M<-G�::� 5��� �� .�� �$$�-���7�� G�:O� 5	�� =� .�� Q� Y� <��� .���

�$$=$.�(7�� G��O� 5����� ��.��Q�Y�M�M�� =�=� 6� ��G�.���.-<����7�� G�O=� 5��� ��.��.-<�

���7��G�<:-G�=�� 5���:�.���$$=$$=�7��G�=O��G�GM� 5�� ���:�.��$5$$�7=7����9=�����M��

���=�����G��9�MM��9�M:��9�M��5�����=:�.��9O�&�7 
9G$�/�(5$�$�G�� �<��.�7U�δ 9���<�� 9���9�� 9OM�M�� 9OM�<� 5(�7�� 9=<�G�� 9=G��� 5$-=�

	������7��9�=�9��9�G�:�5$-<�	������7��MM���5$-9����7�M��<�5$-9�����7�����:�5$-G����7��

�9�:� 5$-<����7�� �9��� 5$-�����7�� ���M�� ���G�� OM�:�� OM�=� 5$5(.�7=��$.��7�� OM�95$-��

���7��O:�M��O:�M�5$-G�<����7��O:�G�5$-=����7��OO����O<���5$-=����7���O=�:�5�(.�-

	������7�� � O���� 5�$.�7�� O����O9�:� 5$-O������$-O����7�� � <��=�� =M�O� 5��(.�(7�� =<�G�

5(5$.�7=7�����:�����������O�����O�5:�%�$�7. 

3�&/�5�H�7�5�&B�'-��A7�������0����$:<.9���=O(9�(�U���O���G9V�
���U���O��:�O��
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[α]D _�M"�6�;α>=GO�_9O"�5��9�������@����7 

'/�5F#�7�9�<<��9�G9��99G:��9�M���9�=M���-9�
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9.�/�( �5$�$�G��=����.�7U�δ ���<����O:����OO����OG�5=����=�.��=�1�.-<�	������7��<��G�

5	����.��Q�Y�M���.���.-=����7��<���-<�9=�5���O�.��.-��G������.-G����7��<����5)��	����

.��Q�Y�M�O�.���.-=����7��=�MO�5������.��Q�Y�M���6�:���.���.-�����7��=�::�5���9�.��Q�Y�

9��<�.����(.�-	������7��=�:��5���9�.��Q�Y�9��<�.����(.�-	������7��=�:O�5���9�.��Q�Y�

9��9�.����(.�-	������7�� =��:� 5��� 9�.��Q�Y� G�<�.���.-9����7�� =���� 5)�� ��� ��.��.-9�

���7��=��O�5���9�.��Q�Y�9��9�.����(.�-	������7��=��<�5���9�.��Q�Y�9��<�.����(.�-

	������7��=��=�5���9�.��Q�Y�9��<�.����(.�-	������7��=�OM�5���9�.��Q�Y�:���.���.-9����7��

=�O:�5���9�.��Q�Y�:���.���.-9����7��=�O<�5���9�.��Q�Y�9��=�.����(.�-	������7��=�<:�5���

9�.��Q�Y9��=�.����(.�-	������7��=�O�-=�=<�5���:�.��=�1�(.�(7��=����5����9�.��Q�Y�

9��=�6�=�<�.���.-O����7��=��O�5����9�.��Q�Y�9��=�6�=�<�.���.-O����7��=��G-=�����G�M<-

G�<���5�����=��.��.-��G�=�<�O�O?-�������1�5$.�$.�7������1�	������-$.�$.������1�.-

<��������1�.-<��������1�.-O������=�1�.-O����7��G�G��5���G�.���$$>7����9G�����M��

���=��������9�MM��9�M:��9�MO�5�����=:�.��9O�&�7�
9G$�/�(�5$�$�G���<��.�7U�δ�9���<-9OM�=�5$��7�9=<�G��9==�:��9=G����9=9�G�5$-=�

	������7��9�=����9�=�9��9�=���5$-<�	������7��MM�:��MM�:�5$-9����7��M:�<�5$-9����7��M��O��

M��<�5$-9����7���M�=�5$-=����7���<�M���<�:�5$-��<����7�����:�5$-G����7�����G�5$.��

�7�� �9�M�� �9�M� 5$-<� ���7�� �9��� 5$-�� ���7�� ���M�� ������ ����� 5$.��7�� OM�=�� OM���

5�$.�7�� OM�9�� OM���� O:�M�� O:�:� 5$-G������$���G�<����7�� O:�O� 5$-O����7�� O:�=� 5$-=�

���7��OO�G��OO���5�(.�7��O<����O<���5$-=����7��O=�<��O=�=��O��:��O��:�5(.�-	������7��

O�����O9�M� 5$-O������$-O����7��<<�G� 5�$$G7��<��G��<��G��=M����=M�O� 5$$�(7���9��-

���<�5%�$�7�

3�&/�5�H�7�5�&B�'-��A7�������0����$:�.9���=:(9�(�U��9�<��G�V�
���U��9�<�OMO��
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[α]D _9�"�5��9�������@����7 

'/�5F#�7U�9�<=��9G����9�G9��99GM��9�:M��9�=: ��-1 
9.�/�( 5$�$�G��G����.�7�5�

��
���
�
���������7U��δ���M9����:M�����<����O��5=������

.7��G�GM�5���G�.7����9=����9G����9������M�����=�����G��������9�MM��9�M���9�MO��9�M<�59�����

=:�.7 
9G$� /�( 5$�$�G�� �<� �.�7U� δ� � 9���=�� 9���=�� 9������ 9OM�:�� 9OM�O�� 9OM�=�� 9OM�=��

9=<���� 9==�O�� 9=G�O�� 9�=�G�� 9�=���� 9�G���� MM�O�� M��=�� :9���� �M���� ���:�� ���O�� �9�����

�9�������O�����G��OM����OM�9��OM����O:�:��O:����O:����OO�9��O<�O��O��O��O��9��O9����<=�M��

<��9��=M�=�����O�����O�����<�����=. 

3�&/�5�H�7�5�&B�'-��A7�������0����$:�.9���=:(9�(�U��9�<��G�V�
���U��9�<��GO��
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[α]D _=9"�5��9�������@����7  

'/�5@���7U�9�<9��9G����9��:��99GG��9�=M ��-1 
9.�/�(�5$�$�G��G����.�7U�δ������5���=�.��.-=�	������7��<�G<-<��=�5���:�.��.-G�=�

���7��<��G�5�����.��.-�����7��=�M:�5���=�.��.-97��=��:=�5���=�.��Q�Y�9����.���$$��-

���7��=�O:�5���=�.��Q�Y�9����.���$$��-���7��=�<<�5	��:�.��Q�Y�<�9�.���$$�(7��=�G9�

5������.��Q��Y�9��G�6�<�9�.���.-O7��=�9<-=��O�5���:�.��.-<�O7��G�M��5	��:�.��Q�Y�<�9�

.�7��G�O9-G�<9�5���9O�.7��G�G:�5���:�.��$$�$7�����9<����9������=��9�M:�5=����=:�.��&�7 
9G$� /�(� 5$�$�G�� �<� �.�7U� δ� 9���O�� 9������ 9OM�M�� 9OM��� 5$��7�� 9=G���� 9�=�9�

5	������7��MO�:�5$-97�����M�����=��OM�:��OM�G�5(.��7��OM�=��OM�9��O:����OO���5$-��G�=�<7��

O��G� 5$-O7�� O��:� 5(.��7�� <��G� 5(.�(7�� =<�=� 55$.�7(7�� ���:�� ������ ���O�� ���O�

5%�$�7��

3�&/�5�H�7�5�&B�'-��A7�������0����$:M.9�:�=:(9�(�U��9<<��:=V�
���U��9<O��=:��
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[α]D _GO"�5��9�������@����7  

'/�5@���7U�G=OG���:�O��9�<���9G����9��:��99G=��9�:���9�=M cm-1 
9.�/�(�5$�$�G��G����.�7U�δ����:�5)���=.7��<�=-<���5���O.7��=�M��5���=.7��=�:G�5���

�.��QY9����.�7��=��O�5����.7��=��<�5)����.7��=�O��5����.��QY9����.�7��=�<��5���:.7��

=�G��5�����.��QY9��G�.��6�<�9�.�7��=�9��5���=.7��G�:O�5���:.7��G�<�-G�=:�5���9O.7��

G�GG�5���:.7����9<����9������=��9�M��5=����=.7��
9G$�/�(�5$�$�G���<��.�7U�δ�9���:��9���9��9������9OM����9=G�=��9�=����9�G����MO�M��

�9�������M�����<�����<��OM�M��OM�<��OM�=��OM����O:�:��OO�9��O��=��O��M��<O�=��<��=��<��G��

=<�<�����M�����:�������
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[α]D _�G"�6�;α>=GO�_��<"�5��9�������@����7�

'/�5@���7U��:����9�<9��9=GG��9G����9��:��9�=: ��-1 
9.�/�(�5$�$�G��G����.�7U�δ����O�5����.��.-=� 	������7�������5����.��.-=� 	������7��

<�G�-<��M�5���=.��.-G�=����7��<��G�5)����.��.-�����7��<����5	���.��QYM�G�.���.-G�

���7��<��M�5	���.��.-=������QYM�O�.�7��=�MG�5�����.��QY9��<�.������	
���&#�$$��7��

=�:=� 5��� �.��QY9����.��� ���	
���&#�$$��7�� =�:9� 5��� � �.��QY9��<�.��� ���	
���&#�

$$��7�� � =��9� 5��� �.�� QY:��� .��� .-9� ���7�� =�O:� 5��� �.�� QY9���� .��� ���	
��� &#�

$$��7��=�<O-=�<��5���:.��$$�(7��=�GG-=��O�5���=.���.-O�����6��.-O����7��=�9�-

=����5���O.���.-O�������.-O�����6��.-<����7��G�::�5���:.��$$��7��G�<:�5���:.��

$$��7��G�<��5���:.��$$��7��G�GO�5���:.��$$��$≡$7����9<����9������M�����=�����G��

9�MM��9�M��5:���MO.��$$G$��7��
9G$�/�(�5$�$�G���<��.�7U�δ�9���9��9���9��9OM�M��9OM�:��9OM�O��9OM�O��9OM�=��9OM�G�

5(��7��9=G�:��9=G�G� 5$-=� 	������7��9�=�9��9�G�M� 5$-<� 	������7��MM�M� 5$-9����7��MO�:�

5$-9� ���7�� ���:� 5$-G� ���7�� �9�M� 5$-<� ���7�� �9��� 5$-�� ���7�� �9��� 5(.��7�� ���=�

5(.��7�� OM�M� 5(.��
�	�
��	��	��7�� OM�=� 5$-�����7�� OM�G� 5(.��7�� OM�9� 5$-G����7��

O:��� 5$-<� ���7�� O:�=� 5$-=� ���7�� OO�9� 5$-=� ���7�� O��:� 5(.��	������7�� O��=� 5$-O�
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[α]D _O="�5��9�������@����7 

'/�5@���7U�9�=:��9G�9��9�G<��99G<��9�=:���-9�
9.�/�(�5$�$�G��G����.�7U�δ����������G��5�����=�.�7��<�=��5	����.��Q�Y�M�:�.�7��<�G<-

<��<�5���=�.7��<��G�5�����.7��<��9�5�����.��Q�Y�G�M�.�7��<��:�5	����.��Q�Y�M�:�.�7��=�M:�

5�����.��Q�Y�����.�7��=�::�5������.��Q�Y�9��G�6�G���.�7��=��:G�5���=�.��Q�Y�9����.�7��

=�O:�5���=�.��Q�Y�9��9�.�7��=�<=�5	��:�.��Q�Y�<���.�7��=�G9�5������.��Q��Y�9��G�6�<���

.�7��=����5������.��Q�Y�9����6�=���.�7�=�9:-=����5���:�.7��G�M��5	��:�.��Q�Y�<�9�.�7��

G�O�-G�=:�5���9O�.7��G�G��5���:�.7�����9<����9�����9������=�����=��������������9�M:�5:����

=:�.7 
9G$�/�(�5$�$�G�� �<��.�7U�δ� 99=G�=��9=G�G��9�=�9��9�=����MO�:��M<�9�����M�����O��

���G��������������OM�:��OM�=��OM�G��OM����O:����O:�=��O��=��OO����O��G��O9����O9�G��O��:��

<��G��=<�=�����:����������������O�����<. 

3�&/�5�H�7�5�&B�'-��A7�������0����$:M.9�:�=:(9�(�U��9<<��:=V�
���U��9<<�OMO��
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[α]D _:�"�5��9�������@����7 

'/�5@���7U�9�<9��9GOM��9��:��99G���9��9���-9�
9.�/�( 5$�$�G��G����.�7U�δ������5���=�.�7��<�=O�5	��=�.��Q�Y�M�:�.�7��<��9�5���=�.��

Q�Y�G���.�7��<��:�5	��=�.��Q�Y�M�:�.�7��=�::�5����=�.��Q�Y�9��G�6�G���.�7��=�:G�5���=�.��Q�

Y�99�:�.�7��=�O:�5���=�.��Q�Y�99�:�.�7��=�<=�5	��:�.��Q�Y�<���.�7��=��O�5������.��Q��Y�

9��G�6�=���.�7��=�9G-=��<�5���:�.7��G�M��5	��:�.��Q�Y�<���.�7��G�O9-G�=:�5���9O�.7��

G�GO�5���:�.7�����9��������������5G����=:�.7 
9G$�/�(� 5$�$�G�� �<��.�7U� δ� 9������ 9���9�� 9OM�O�� 9G<���� M<���� �9�G�� �9�9�� ���:��

���<��������������OM�<��O:�O��O��O��O9�M��O9�G��<��������:�����������O. 

3�&/�5�H�7�5�&B�'-��A7�������0����$:M.9�:�=:(9�(�U��9<<��:=V�
���U��9<<�:M<��
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[α]D _::"�5��9�������@����7 

'/�5@���7U�9�<9��9G�9��9��M��9�=O���-9�
9.�/�( 5$�$�G��G����.�75�

��
���
�
���������7U�δ�:�9�����::�����M����OG�5=����=�

.��.-<�	������7��<�=O��<�==�5��	����.��Q�Y�M�:�.���.-G����7��<�G-<�9<�5���11.7��<��:�5	��

��.��Q�Y�M��:�.���.-=����7��<���-=�<��5���11�.7��=�:<�5�����.��.-9����7��=�<��5	����.��

Q�Y�<���.���$.�7��=�G�-G�G<�5���11.7����9=����9G�����M�����=�����=��������9�MM��9�M:��

9�MO�5 ���������MO�.��&�7 
9G$� /�( 5$�$�G�� �<� �.�7U� δ 9���O�� 9���<�� 9������ 9OM�M�� 9OM�<� 5(��7�� 9=<�9��

9==����9=G�G� 5$-=� 	������7��9�=�O��9�=�9��9�G�M� 5$-<� 	������7��M��O��M��<� 5$-9����7��

M<�9� 5$-9���7�� MG��� 5$-9���
8�����7�� :����� �:�:�� ���M�� �9�:�� �9�9�� ������ ���<�� ���G��

������OM�G��OM�9��O:�M��O:�:��O:�=��O��=��OO����O<����OG�:��O��9��O9�O��O9����O9�9��O��G��

<��9��=M�<��=M�=�5$.�(7�����������O�����O�5�(.G$�7. 

3�&/�5�H�7�5�&B�'-��A7�������0����$9��.�G:�M<(�=(�U�=9:=�::<V�
���U�=9:=�M��
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[α]D _��"�5��9�������@����7 

'/�5@���7U�9�<9��9G�9��9��:��99GM��9�:M�9�=O���-9�
9.�/�( 5$�$�G��G����.�75�

��
���
�
���������7U�δ�:��M����::�����<�������5=����:�

.7����9=����9G����9������M�����:�����<�����=�����G��9�MM��9�M���9�MO��9�M<�5 ���������MO�

.��&�7 
9G$� /�( 5$�$�G�� �<� �.�7U� δ 9���O�� 9���9�� 9OM�M�� 9OM�O�� 9OM�=�� 9OM�G�� 9=<�9��

9==���� 9=G���� 9=G���� � 9�=�O�� 9�=���� 9�G�M�� MM�:�� MM���� M��<�� MG���� :��<�� ������ � �9�:��

�9�9�����������G��OM����OM����O:�M��O:�:��O:�G��OO����O<����O�����O��9��O9�:��<�����=M�=��

���������O�����<. 

3�&/�5�H�7�5�&B�'-��A7�������0����$9��.�G:�M<(�=(�U�=9:=�::<V�
���U�=9:=����
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[α]D _�G"�V�;α>=GO�_M"�5����<���
�.7��

'/�5F#�7U�GGM����M9M��9O<9��9=�M��9�<����-9�

9.�/�(� 5$�G���� G����.��� �

��
�� �
�
���������7U� δ� :��<�� ��MM� 5�� ��� =�.��.-<�

	������7��=�M9�5�����.��Q�Y�G�O�.���.-9����7��=��G�5�����.��.-9����7 
9G$�/�(�5$�G�����<��.�7U�δ��9=O����9=<�G��9�O�9��9�<�:��9�9�O��MM�O���<�9���=�M��

�=�����G�<�����<�����9���9�M���9�:���9�=�����������=�����9��O:�=��OO�:��O<�G��O��:��O�����

O9�=��<9�<��<9�G��=O�O. 
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[α]D _�O="�5��9���
�.7��

'/�5F#�7U�GGO<���M�:��9O<=��9=<:��9�=O���-9�

9.�/�(� 5$�G���� G����.��� �

��
�� �
�
���������7U� δ� :����� ��M:� 5�� ��� =�.��.-<�

	������7��=�=��5�����.��Q�Y�����.���.-9����7  
9G$�/�(�5$�G�����<��.�7U�δ��9=O����9=<�<��9�O�9��9�<�:��9�G�O��9�9�O���:�����<����

�=�M�����<�����9���9�M���9�O���9�=�����=��������O:�=��OO�:��O<�G��OG����O��:��<9�<��<9��. 

3�&/�5�H�7�5�&B�'-��A7�������0����$<G.::�G�(9�(�U�9GM<�<OV�
���U�9GM<�<:��
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[α]D _�9�"�5�����<������7 

'/�5F#�7�GGM<���M�=��99G<��9�M���9�<<���-9�
9.�/�( 5$�G����G����.�7�5�

��
���
�
���������7U�δ�:��:��:��=��:��9����M��5=����=�

.7��G�G=�5����G�.7�
9G$� /�( 5$�G���� 9���.�7U� δ� 9=O�9�� 9=<�:�� 9=<�<�� 9=<�<�� 9�O���� 9�O�9�� 9�O����

9�O����9�G����9�G�O��9�9�O��MM����:��=���:�����:�����������O�M���<�����=�M���G�������=��

�������9�M���9�:���9�:���9�O���9����O��=�����������������9��O:�=��O:�G��OO����O<�9��O<����

OG�9��OG����O��:��<<����<9�<��<9����=M�O 

3�&/�5�H�7�5�&B�'-��A7�������0����$<<.M�(9��G�(�U�9=<G�<O:V�
���9=<G�O�. 
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[α]D _M"�5�����<������7 

'/�5F#�7U�G=�����M�=��99G<��9�<<���-9�

9.�/�( 5$�G����G����.�7�5�

��
���
�
���������7U�δ�:�9���:��O��:��G��:��9�5=����=�

.7  
9G$�/�( 5$�G���� �<��.�7U� δ� � 9=O�=�� 9=<�M�� 9=<�O�� 9�O���� 9�O�9�� 9�O���� 9�G�:��

9�G�O�� 9�9�O�� MM���� :��<�� :����� �M�9�� �:���� �<���� �=�M�� �G���� ���<�� ���=�� �9�:�� �9����

�9�<���9�=�����G��������O:�=��O�����OO�:��OO����O=�:��OG����OG�9��O��:��<<����<9�<��<9����

=M�M. 

3�&/�5�H�7�5�&B�'-��A7�������0����$<<.M�(9��G�(�U�9=<G�<O:V�
���9=<G�O. 
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